o . .
4R Series ZJELPC Soo001015 ce 4R Series

Hand Draw Valve Hand Draw Valve

i Overall Dimension
Valve Valve
Jav Jav
J4V100 o o J4V100
14V200 @ 4R110-M5  =AAV//]0 @ 4R110-06  =H43\[//[0 14200
J4V300 J4V300
14V400 | 'Z’EIE 3 14V400
5V g 5V
Manifold _'_ Manifold
Ty 3R210-08 3R310-10 4R210-08 4R310-10 M12x1 S
5V ul o 0] 5V
MCS o ; o a N , i g MCS
NT307 ) : B @ ? i g i oIS ? ol WNT307
T iFeatu res iOrdermg Code b & & | oy \,;;@ i L |9 = o
I $ | oy - o
MVSD < I, m W MVSD
— processing. é [y i * ?“E & é'*
BM . . . . 0 =l n 1 @ u 0 | t @ 1 BM
—— 2. New visual style, synchronized with global outstanding 0 [ fa < I 1 i - X n 1 1o —_—
NAVUR e e — — lm ] = limeh Y o) [ NAVUR_
_ st 3. To import German high standard special grease 4R: 5/2 Way Hand 100 Series 10: Single M5 : M5x0.8 8 18 MEEY ;3 :,E »L
_ JELIO which provides film in order to reduce friction. Draw Valve 200 Series head Double 06 : G1/8" 2z - L0
_ SVZF 4. Valve spool use seals which import from Japan to 3R: 3/2 Way Hand 300 Series Position 08 : G1/4" 3VizF
Dizphragm increase the life time Draw Valve " 24 24 Dizphragm
— - 10 : G3/8 —_
JELVD —_— 10:G¥8 u 4R210-06  cqi\[//}0 JELVD
— 315 315 U —
v 3v1
Coll D= Coll
2 iSpecification = 2
2v + 2v
v W14 %1
2w 4R110-06 | 3R110-06 | 4R210-06 | 4R210-08 | 3R210-06 | 3R210-08 | 4R310-08 | 4R310-10 [3R310-08 | 3R310-10 ' 2w
2W(Bi . . . i . . . i 2W(Bi
_ 2WE9) Working Medium 40 Micron Filtered Air 3] o 2WE9)
2L : | o m | 5 o 2L
Inlet, Outlet Inlet, Outlet X i - N . I g
VX ) Inlet, Outlet, Exhaust Port ~G1/4" Inlet, Outlet, | Inlet, Outlet, | Inlet, Outlet, -G3/8" Inlet, Outlet, | Inlet, Outlet, 8 0 é 1 o al VX
Port Size Y Exhaust Port | Exhaust Port | Exhaust Port Exhaust Port | Exhaust Port e : 0 ! I = e
PU =G1/8 Exhaust Port ) .\ . | Exhaust Port | o el m o oo PU
- anst T =G1/8 =G1/4 =G1/4 naust e =G1/4 =G3/8 ; = i
PU225 =G1/8 =G1/4 B - = PU225
2Q Effective Cross P 14mm? 16mm’ 14mm? 16mm’ 25mm’ 30mm? 25mm? 30mm? 4 -E3-4 J d ——\Q‘v f—r o ‘L‘TJ 2Q
JEL5404 Section Area 10mm(CV=0.56) (Cv=0.78) | (CV=0.89) | (CV=0.78) | (CV=0.89) | (CV=1.40) | (CV=1.68) | (CV=1.40) | (CV=1.68) E‘uu a 8 IR u | $ g T JEL5404
JEL6213 Working Pressure 0~0.8MPa *@$ % o 77@ T m al | I.D JEL6213
T : o ™ g l 0 f Y . m by o
BU Working Temperature -20~70°C - | < 01 | - l BU
Pulse Position Number 5/2 way | 3/2 way 5/2 way 3/2 way | 5/2 way 3/2 way o { 1= 7@ m.5 o Pulse
JELJZF 35 17 JELJZF
o a
TSV -a TSV
MPV iInternaI Structure iParts §4rR310-08  =IAN//0 @ 4R310-10 MPV
AV @ v
HV, K HV, K
R Number Name an
4F210 1 Set screw 4F210
FV M1 x1 M8 x1 FV
T Msv 2 Hexagon nut o MSV
L 3 Lock nut 5 E < m q M
ASC, RE } o [ J A 0 @ } N g & E ASC, RE
QE, QEA 4 Handle _$6_§ N ‘ $ N 0 | @,@ & ‘ g N - QE, QEA
— g N - ; ru 7| —
ST 5 Top cover i a L& Wl = o N W= ST
HSV \ [ HSV
n 9 0 T y
6 Valve spool v”@" N ,kg\fo,,, - @ o 3 ,19\iLi,ﬁ, &
7 Valve body ‘ 5 i @ | i & R
- T H- q
8 Flat ring w $_ 27 & ‘ 0 @G} i | g
S | N - |
9 Cover —— A — T il
=27 27.5 =27 27.5
40 40

1-1P97 1-1P98



® 4R Series

)

JEL

JELPC’

[

Hand Draw Valve

i Overall Dimension

V200 g3R110-M5 (N[0 §3R110-06 N7

IsY MI12x1 M12x1 |

2-83.1
1
3-M5
2-03.3

(=5
=
B82.1
86.1

MVSD
VF

EM

NAMUR
551 e
JEL1O
3VIZF
Diaphragm -
JEWVD §3R210-06 N[/ }0 @ 3R210-08 f\T7}0

3v1 e
Coil 222.3 g22.3

19

15.9 14.2
1
2
23
21
B
-
|
13.5,
_@

1
13.5,

12.56
[
o |@
sy
R

—»% e

2V ¥
2w M1dx1 I M14x1 —'_ —1_ I

2W(Big)

2L U )
h]
a

VX

a7.1

PU

2-84.2
S
93.1
97.1
1a\2-803.3

P4

PU225 ki | 3 He ! o | .
o ? ol ]| d Lokt TS @

JEL5404 | |

JEL6213 —@-¢ o 4 | @ !
[

22

25
30
30

17

BU
Pulse
JELIZF 35 35 vz
4H
TSV

v 3R31008 N[/} §3R310-10 X7 Fo

4HV

16.75 _22.5
28

15.5
<5
T

15.5
13
13,

HY, K @24 B24
: o
- B |
4F210 @; —— (LIQ (LI;
FV | 3 ] 1 ; 1
MSY MIBx1 | | MI16x1 | |
x m £,
— m|
ASC, RE b < J g
| Ul
QE, QEA g o ¢ |8 8 o © |v
3 s SO - i SUN I &
<, S, O~ oS = O 4
HSV {
9 | 1n ==t O] freee ol ] oL =
N ‘—'T'—“ o T o ] .
\ﬁ%h’ 1n)
ol [ N o & I I <3 I
3 | .$ M i ! o -@- | n ! 10| b
9 N ¥ € N -
=R~ 4 = =
27 19, 10 2
! o =
40 40 20

1-1P99



